AGENDA PLACEMENT FORM
(Submission Deadline – Tuesday, 12:00 PM before Regular Court Meetings)

Date: March 17, 2023	COMMISSIONERS COURT
Meeting Date: March 27, 2023	MAR 2 7 2023
Submitted By: Rexann Knowles	
Department/Office: County Judge	Approved
Signature of Director/Official:	
Agenda Title: <u>Consideration of Quotes from Texas Public Safety Installers and KMP Grap Console and Graphics for a 2023 Ford F150 in the total amount of \$4,691.4 ARPA funds.</u>	phics for Lighting, 2 to be paid using
Public Description (Description should be 2-4 sentences explaining to the 6 what action is recommended and why it is necessary):	Court and the public
Additional equipment needed for Medical Examiner's vehicle that was approximated with ARPA funds in Commissioners Court on November 14, 2022. This shoupfitting for this vehicle.	ould complete the
(May attach additional sheets if necessary)	
Person to Present: Rexann Knowles	
(Presenter must be present for the item unless the item is on the Con	
	ENTIAL
(PUBLIC documentation may be made available to the public prior to	the Meeting)
Estimated Length of Presentation: 1 minutes	
Session Requested: Consent (Action Item, Worksho	p, Consent, Executive)
Check All Departments Requiring Notification:	
County Attorney / IT Purchasing / Auditor	V
Personnel Public Works Facilities Management	
Other Department/Official (list)	

ESTIMATE

Texas Public Safety Installers

PO Box 3271 Cleburne, TX 76033 tpsi.cleburne@gmail.com 972.743.2840



Johnson County Medical Examiners Office

В			
			O

Johnson County Medical Examiners Office

Estimate details

Estimate no.: 1053

Estimate date: 03/10/2023 Expiration date: 06/10/2023

	Product or service			Amount
	Sales Feniex Fusion Surface M	lounted R/B LED	8 units × \$125.00	\$1,000.00
	2. Sales Feniex T3 R/B LED (LP)		2 units × \$51.99	\$103.98
	 Sales Feniex Quad 800 Series 	Stick w/Traffic Advisor	1 unit × \$699.99	\$699.99
	Sales Gang Rocker Switch P	anel	1 unit × \$19.99	\$19.99
;	5. Sales License Plate Bracket		1 unit × \$21.99	\$21.99
(6. Sales Motorola APX Radio Anti	enna and Cable	1 unit × \$70.00	\$70.00
7	7. Sales Feniex Quad Converter		1 unit × \$59.00	\$59.00
8	8. Repair / Service Install Police Console w/f	-aceplates	2 hrs × \$100.00	\$200.00
ç	9. Repair / Service Install 6 Feniex Fusion Lig	ht / Grill	2 hrs × \$100.00	\$200.00
1	10. Repair / Service Install 2 Feniex Fusion Lig	ht / Rear Custom	2 hrs × \$100.00	\$200.00

11.	Repair / Service	1 hr × \$100.00	\$100.00
	Install 2 T3 Lights R/B w/License Plate Bracket		
12.	Repair / Service Install Feniex Quad 800 T/A Rear Window	1 hr × \$100.00	\$100.00
13.	Repair / Service	2 hrs × \$100.00	\$200.00
	Install Motorola APX Radio Antenna / Roof Mounted		
14.	Parts / Supplies Wire / Connectors / Electrical Supplies	1 unit × \$95.00	\$95.00
		Total	\$3,069.95
	Note to customer	Expiry date	06/10/2023
	2023 Ford F-150 Medical Examiner Unit		

ESTIMATE

Cleburne, TX 76033

Texas Public Safety Installers PO Box 3271 tpsi.cleburne@gmail.com 972.743.2840



Johnson County Medical Examiners Office

В	: 1		_
D	н	ι	o

Johnson County Medical Examiners Office

For 2023 Ford F-150

Estimate details

Estimate no.: 1052 Estimate date: 3/7/23 Expiration date: 6/7/23

	Product or service		Amount
1.	Sales Havis Police Console w/face plates and hardware	1 unit × \$1,200.00	\$1,200.00
2.	Repair / Service	2 hrs × \$100.00	\$200.00
		Total	\$1,400.00
	Note to customer	Expiry	date 6/7/23

KMP Graphics Inc. 105 Black Jack lane Burleson, TX 76028

Estimate

DATE	ESTIMATE NO.
3/7/2023	15681R

NAME / ADDRESS	
Johnson County Medical Examiner 427 W Chambers Cleburne, TX 76033	

P.O. NO.	TERMS	DUE DATE	REP	FOB	PROJECT
		3/7/2023			
QTY	DESC	RIPTION		COST	TOTAL
722	Johnson County 2023 Ford F-150 Cab Door Logos 18" x 18" qty 2 I Control Tac vinyl with 3M 8518 g warranty against color fade or defe installation.	Digital graphics prin gloss laminate. Mani	ufacture	0.1586	i 114.51T
312	Medical Examiner 38.8" x 3" qty 2 (IJ680CR-10 with upgraded adhes Specifications) with 3M 8518 Lan KMPG Shop (priced per square in	sive per KMP Graph ninate including inst	nics	0.221	68.95T
172	Medical Examiner on tailgate 42" x 3.25" qty 1 3M Reflective ZA0096 (IJ680CR-10 with upgraded adhesive per KMP Graphics Specifications) with 3M 8518 Laminate including installation at KMPG Shop (priced per square inch)			0.221	38.01T
	Sales Tax			0.00	0.00
					\$221.47
Estimate valid for 30 d	ays.			TOTAL	\$221.47

Phone #	Fax #	E-mail
817-295-5565	None	Keith.Kelly@KMPGraphics.com